Experiment

Object: 

To understand the mathematical formulation of Hooke’s Law to know that the extension is proportional ot he force and also to understand a coil spring extension, reaction to the force.

Hooke’s Law:  It tates theat the stress is directly proportional to strain and the displacement is proportional to acting force within the certain limijts.

Apparatus:

· Spring (extension)


Table clamp


Weight hanger

· Weights (of known masses)

String (of negligible weight)

· Lab scale

Procedure: 
We  first  chose  a  random  spring  from  the  pool  of [image: image1.png]B
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Fig. 1. Illustration of Hooke’s Law. As additional
weights are added, there is a linear increase in the

length of the spring.




available  springs.   We  measured  the  length  of  this spring  as  well  as  the  length  and  mass  of  the  weight hanger.   We  then  set  up  the  table  clamp,  spring  and weight hanger as illustrated in Fig. 3.   We also set up a meter  stick  next  to  this  apparatus  so  we  could  easily

and consistently make length measurements.  To reduce variability  in measurements,  we  had  only  one  group member  make  all  measurements  while  other  group members  focused  on  tracking  data  and  organizing  our

efforts.

We then proceeded to add weights to the weight hanger

and  record  the  change  in  length,  d  (m),  of  the  spring

(see  Eqn.  2)  where  L  is  the  measured  length  on  the

meter stick.

[image: image2.png]Trials: Weight | Lengthof | Spring
Applied: | Spring: | Constant:
(NIM)
1 0000kg  [0280m  |not
calculated
2 0100kg  |0405m  |7.840
3 0200kg _ |0520m  [8.167
4 0400kg_ |0750m  [8340
5 0500kg  [0890m  |8.033
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[image: image3.png]Trials: Weight | Lengthof | Spring
Applied: | Spring: | Constant:
(NIM)
1 0000kg  [0190m |not
calculated
2 0100kg  [0.300m _ |8.909
3 0200kg  [0420m 8520
4 0400kg  [0650m 8520
5 0500kg  [0760m 860
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